Further Integration

2013
Q8 — 5 marks

_ _ . [.2
Use integration by parts to obtain _’.A‘ cos 3x dx.

Written Solutions
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Q11b — 4 marks
1) Write down the derivative of sin”'x.

»)  Use integration by parts to obtuinJ.

Written Solutions
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Q16a — 3 marks

)
Define /, =j ———s—dx for nzI.
0(l+x%)"

(a) Use integration by parts to show that
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Written Solutions
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Q3b —4 marks

Integrate x% In x with respect to .

Weritten Solutions
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Q9 — 5 marks

1

Usec integration by parts to obtain the exact value of
0

Written Solutions
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Q7 — 5 marks

Use integration by parts to obtain J-sz sin 4x dx.

Written Solutions
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Q16b -5 marks

(a)

(b)

(c)

The diagram shows part of the graph of f(x)= tan~! 2x and its asymptotes.
State the equations of these asymptotes.

Use integration by parts to find the area between f(x), the x-axis and the
lines x=0, x = —%

Sketch the graph of y = | f(x)| and calculate the area between this graph, the
x-axis and the lines x = —-%, x=.

Written Solutions
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